Techniques of Integrations

Basic Integrals
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Trigonometric Integral
*MF 15 is without the | | sign K
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Integrals of tan x, cot x, cosec x and sec x can be found in MF15

Using Factor Formula
*take note that%(P +Q) +§(P -Q)=P

; 2(P+Q)—5(P—Q) =Q inMF15

[ sin(mx) cos(nx) dx = %f[sin(m + n) x + sin(m — n) x]dx **refer to MF15 for the others**

Standard Integrals
An example only. Refer to MF15 for all.
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Rational Functions of the Form [
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Let f(x) = A[g'(x)] + B
Compare to find A and B

Ans:Aln|g(x)|+f$dx+C

complete the square for g(x) and make to
standard integral. SOLVE

Integration by Substitution
If needed, the substitution is always given. Differentiate the substitution to replace dx with du

Integration by Parts
Formula: fuj—:dx =uv — Z—:dx **Use the LIATE rule for the choice of u

e.g. [xsinx dx
= —xcosx — [(—cosx)(1) dx
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